RESHLVER

ClOSS 5
Sel: 2209.23

Return:29.09.23

REALCHER

Maths

3456 + 50 = 416+4 =

2/5+2/10 = 123 x 3 =

Match the numbers in the middle to their rounded values.

+——— To the nearest 1,000 ] [To the nearest 10,000 ——»

29,000 48,354 50,000
57,000 28,569 70,000
48,000 57,431 30,000

48,000 47,857 60,000

Circle all the numbers that will round to 400 when rounded to the nearest 100.

Five hundred

649 and twenty-
three
Six hundred
652 551 and four
Seven
hundred and 678
one




Trg wrlhng Hlese Roman numero,ls as nu,mbers.

XXX

XXXV

U

v

5

XVl

XXVII

X L C D M

10 50

100 500 1000

U L

In spelling we have been looking ot the ee sound spe”ed <eiy or «ie»

Unjumb[e the spellings.

cepie

eLze s

d Ei

r_epie

shkrie

er th ei




